
  

  

 

 
7 

 منصة نتعلم

nt3lm.com 01030992183 

 الواجب المنزلي 

   اختر الإجابة الصحيحة 
 9  ×[ 2  ×2 ]    ................... =    [ 9  ×3  ،9  ×2  ،9  ×4 ]  

 1  ×1  ×10     ................... =    [ 1     ،    11     ،     10   ]  

 8  ×[ 4  +3 ]   =8 .......... ×    [  3       ،7       ،12    ]    

 [ 3  ×4 ]  +[ 3   ×8 ]  =3  ×.........   [ 4       ،8         ،12  ]   

 ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

 مكان النقطالعدد المناسب   أكمل               
 4  ×2   × .........      =16      5  ×9  =[ 5  ×4 ]  +[ 5  ×......  ] 

5    ×8  =5  ×[  2  ........ +]     .........   ×4  ×4   =32  

 4  ×3  ×.........      =24      6  = ..... ×[ 6  ×3 ]  +[ 6  ×10 ]   

ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

  أجب:               
 ؟  جنيه. احسب سعر الكرات 2كرات سعر الكرة الواحدة  3 بها   صناديق 4مع امير  -1

 .................................................... ........... ..............................=  2×  3×   4:  الطريقة الأولى

 .................................................... ........... ..............................=  2×  3×   4:  الطريقة الثانية

 .................................................... ........... ..............................=  2×  3×   4:  الطريقة الثالثة

 ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

 : أوجد الناتج               

 6  ×9    = ....................... ................... .................. .................................................... 

 4  ×11  = ....................... ................... .................. .................................................... 

 3  ×8    = ....................... ................... .................. .................................................... 

 7  ×15  = ....................... ................... .................. .................................................... 

 


